Adding Transitions

Smoking is bad because it causes a range of health problems, including lung cancer, emphysema, and asthma. It can damage the fetus during pregnancies. Smoking makes the smoker smell like nicotine, hardly a pleasant scent, while yellowing his or her teeth. Smoking costs the smoker financially too - smoking can easily be a five to ten dollar a day habit for a chain smoker. One should avoid smoking. People who smoke argues it relaxes them. They think it makes them look cool, and helps them fit in with their peers. These are not good reasons for smoking. Smoking may be relaxing, and may even look cool, but it just isn't worth the health problems it can cause. If no one was foolish enough to smoke, there would be no peer pressure to do so.

Choose transitions to help sentences to be connected and to keep the reader on track. (Do not forget the comma.)
Smoking is bad because it causes a range of health problems, including lung cancer, emphysema, and asthma. ___________________ it can damage the fetus during pregnancies. ________________ smoking makes the smoker smell like nicotine, hardly a pleasant scent, while yellowing his or her teeth.____________ smoking costs the smoker financially too - smoking can easily be a five to ten dollar a day habit for a chain smoker. ___________________ one should avoid smoking. _________________ people who smoke argues it relaxes them. They think it makes them look cool, and helps them fit in with their peers. ______________these are not good reasons for smoking. ___________smoking may be relaxing, and may even look cool, but it just isn't worth the health problems it can cause. ____________if no one was foolish enough to smoke, there would be no peer pressure to do so.
